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5 % #ic > set classpath=D:Java2_book\timeDate;.
import dateTool.dateTool
import dateTool.Date

import timeTool.timeTool
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import timeTool. Time
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3 p #p g (tempDays = dateTool.datelnterval(entraDate, outDate); )

tempTime = tool.timelnterval(entraTime, outTime)
if (tempTime.hour > outTime.hour)
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tempDays = tempDays - 1
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int cost;

if (value < 30)

int value = (tempDays*24 + tempTime.hour)*60 + tempTime.minute
cost=0
else {
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value = value -30;
cost = value/30 * 20;

}

System.out.printf("\n % # % &

2+ %d\n", cost);




